


Pozicié

© O ~NO O WNEPRE

ol
= o

12
13
14
15
16
17
18
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
a4
45
46
47
48
49

AO1

A02

Cikkszam
853010-4
265995-6
183394-9
417553-6
650523-4
685722-9
645253-0
267759-4
233335-6
267175-0
216001-0
324174-6
324176-2
231907-1
267227-7
261120-7
152827-5
266295-7
216011-7
227027-7
324090-2
256253-1
233910-8
344991-8
227001-5
267212-0
211140-1
317428-8
210024-0
240046-6
517554-5
152990-4
635049-7
211021-9
191940-4
643928-5
265995-6
687052-4
682566-8
P-12924
324284-9
819063-3
183394-9
442137-1
267235-8
824630-1
134831-6

Megnevezés
Tipustabla
Onmetszo csavar M4x18
Motorhéz
Forgasiranyvalté
Kapcsolo
Szivacsgumi (cso)
Zajszuro kondenzator
Alatét
Nyomorugé 25
Lapos alatét 24
Acélgoly6 3,5
Kalapéacs
Tengely
Rugés gyuru 10
Alatét 18
Gumi alatét
Kalapacshjaz, komplett
Imbuszcsavar M4x30
Acélgoly6 5,6
Fogaskerék
Tengely
Csapszeg 5
Rugoé
Persely
Fogaskerék
Alatét
Golyéscsapagy
Belso fogazasu fogaskerék haza
Golydscsapagy 608 2RS
Ventillarot
Forgorész
Tartokar komplett.
All6rész
Golyéscsapagy 607LLB
Szénkefe CB-411
Szénkefetarto-sapka
Onmetszo csavar M4x18
Kéabel-fesziltségmentesito 6870
Kabelvédo
Tapkabel
Kampé
MAKITA cimke
Motorhaz
Tomités
Alatét 18
Hordtaska
Dugokulcs 19

Mennyiség
1

PR RPRRRRREREN

N
a1

PR RPRPRRPRRPRRPRPRPRPNNRPRPRPRPRPRRPRPRPRPRPRPEPREPNRNNAMARPRRRERRRER



